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SECTION -1
gug — |
CHILD DEVELOPMENT AND PEDAGOGY
T forera wa e

There are 30 questions in all in this section.
All questions are compulsory.

@IS U HA 30 TH B |

vt v sttt & |
Which among the following is involved in learning process ?
(A) Physiological (B) Psychological
(C) Environmental (D) All of the above
fr=faRaa 9 & e i wfskan o e 2 —
(A) IR (B) WA
(C) wafereft (D) U |eft
The is the immediate environment in which the individual lives.
(A) Microsystem (B) Mesosystem
(C) Exosystem (D) Chronosystem EEm
@ focheam anare & ot safd war? | B
(A) H&H goredt (B) wHHI¥H
(C) vl fawen (D) RICTsRA

proposed the theory of multiple intelligence.
(A) Howard Gardner (B) Freud
(C) Binet . (D) Thurstone
3 93-9fg 1 fargra e e 2 |

(A) TEE MER (B) R
(©) T (D) ¥&A

According to Right to Education Act, 2009, no school to be established without obtaining
certificate of :

(A) Appreciation (B) Recognition

(C) Terms and Condition (D) Authorization

RTE 31faf=m, 2009 % 38R, Fefafea e smmr-wa & fomn o foemem wenfua &
feper ST 7

(A) T (B) =

(C) Trom wg ord (D) WIferehR

Any relatively permanent change in behaviour or behavioural potential produced by
experience is called :

(A) Learning (B) Thinking

(C) Cognition ] (D) Motivation

3TIHE G 39 SHER A1 HagR G § foreft oft srvetmena womft afad i T AT
gl

(A) 3ferm (B) femmor

(C) argafd (D) S




10.

As per Right to Education Act, 2009, Elementary Education means :
(A) Education from first to eighth class (B) Education before first class
(C) Education from 8th to 12th class (D) Education in middle school

RTE 31frf=m, 2009 & 3179 arfiyes forer w1 3128 2
(A) UEA HETT W 13T el deh hi &t

(B) 9¥m 2uft & uget <h faram

(C) 3radt & sREd et ae 6t frar

(D) weafies f3am

In the field of mechanism of heredity, modern studies have been done principally in which
direction ?

(A) Cytology (B) Biometry
(C) Experimental breeding of animal (D) All of the above
JTTETTAT & o 31 & & H, 71 wer fopat feem Y 1t s & 7

(A) IR (B) Shafafd

(C) SIHaRl &1 IR It (D) 3ulred |eft EE
E

RTE Act, 2009 directs working hours per week for teachers.

(A) 40 hrs. (B) 45 hrs.

(C) 42 hrs. (D) 48 hrs.

RTE 31ffem, 2009 frereni 3 fera ufe wedrg fepas €2 s o6 w1 figo gar @ 2

(A) 4095 (B) 4590

(C) 429w (D) 489w

Which out of the following is not a biological determinant of personality ?

(A) Nervous system (B) Ductless glands

(C) Somatic structure (D) Situational structure

fferfiga # @ S saferdce 1 ek frufes & 2 2

(A) et oot (B) dafeigH ufemt

(C) cfeeh atam (D) Tefosr= gt=mT

Which of the following is not a general law of heredity ?

(A) Progression (B) Variation

(C) Regression (D) like begets like

fr=ferfaa o @ s SafeRar 1w fem a2 7

(A) Tl (B) ®9TX

(C) wdwTHa (D) & g7 i B



11.

12.

13.

14.

15.

Which of the following is not a step in conducting scientific research ?

(A) Conceptualizing a problem (B) Revising research conclusion
(C) Collecting data (D) Dynamic approach

AT ITTHET i oh T # FefeTRad o § I 61 Th heH T8 & ?

(A) T qHT HT FATURIM (B) @MY sy forsed

(C) 3R |Tft Uk ST (D) Tifersfiet gf¥shron

same test on different occasion.

(A) Reliability (B) Validity

(C) Objectivity (D) None of these

dtegur <ht 1 HeH ¢ i 3T R U & wlerr W foret e gr ST eAeemen! ht
A |

(A)  Torveetera (B) duar

(C) a&gfEal (D) T4 | HIE T

Right to Children for free and Compulsory Education falls under Act : Y
(A) 2009 (B) 2012 e
(C) 2005 (D) 2010

A1 ! o 3R 3Tfart faveq w1 stferepr fopm srferfarme & sr=arfa s @ 2

(A) 2009 (B) 2012

(C) 2005 (D) 2010

In giving instructions to the mentally retardeds the teacher must keep in mind that they :
(A) are able to pass examination

(B) learn more vocational skills

(C) work hard to compete with normal children
(D) spend time in competitive games continuously

Trerent =1 Tfdres &9 & fafarea ot st fce & T o e @ =t foh 9
(A) e v e HEem R |

(B) 3Tfreh SATaHTTRIH izt W |

(C) T s=at o A1 fereae o o ford shet ufem = |

(D) <nTaR Sfeereff @ai & g foam |

Learning through Reward and Punishment is :

(A) Opbservational learning (B) Social learning

(C) Operant conditioning (D) Classical conditioning
TS TUT CUS o HIEH & HIGHT @

(A) JuTTeHs Fferm (B) @RS JAferTH

(C) Toramy 3TgaeH (D) ST JTEYH

of the test refers to the consistency of scores obtained by an individual on the



16.

17.

18.

19.

According to Freud, the primary structural elements of personality are :
(A) Conscious, Subconscious, Unconscious

(B) 1d, Ego, Super-ego

(C) Pleasure principles

(D) Defence mechanism

IS % STIHR, Sfadcd o ITfHeh TTEHTH ad & :
(A) Hdd, 3Ad=dd, A<dd (B) g<H, 3T8H, 9UEH
(C) 3THe & faga (D) T&TTeHeh fdfshar

Tendency of body to maintain a steady state is :

(A) Homeostatic (B) Balance
(C) Fostering (D) Drive
TR 3TereT SR T o Todl IR 1 T <l el ST & -
(A) wferf (B) HqeH
(C) S (D) ST

EE
=

Sita works at a day care center. The pay is low and hours are long. But she loves being
around children & has no desire to look for a higher-paying job. Sita’s motivation appears

to be :
(A) Intrinsic (B) Extrinsic
(C) Selfish (D) External

T Ueh S HAX T H hH hidl & | Ia HH & 3T hTH & 5 T &, oI I8 S=1 o HATHIE
T&T THe il & IR 3= I aTeil Aiehd] shl TSl hid shl i 351 I8! W@l & | Hiar i

TuTT fore TR h Tl B 7
(A) 3TN (B) wT&d
(C) ot (D) sl

In the identification of the gifted, we must give priority to :

(A) the parents’ opinion (B) result of objective test
(C) teachers’ opinion (D) the community viewpoint
wfererTett st TEe # B Srfiehar et = fed

(A) wTar-Tar 6t I (B) (s wief s aiomm

(C) Tt (D) HHETR gfEehiv



20.

21.

22,

23.

Which of the following has not been shown to help maintain a healthy level of cognitive
functioning ?

(A) Participating in games (B) Working crossword puzzles

(C) Sedentary lifestyle (D) Reading

frafafad # @ & 91 GETS B TG o W W Hl SR WH § 7GE B & o
SH TE 2 ?

(A) ShIeT | 9T o (B) ShiE-d Ugell U T LT

(C) AT Sfte et (D) 9 HT

“Life presents a continuous chain of struggle for existence and survivals.” 1is said by

(A) Darwin (B) Shaffer

(C) Jerslid (D) Spencer

Sired, AfET 6 Fod SR ST Sl Teh Had 2[@el S&qd il & | 3 fereeh gry et mn
27

(A) wifed (B) =T =15
(€) W (D) T .

Which among the following is not a major period of cognitive development given by
Piaget ?

(A) Sensorymotor stage (B) The pre-operational stage

(C) Cyclic stage (D) Formal operations

et gr feu T wsmTenes T & fagia o frafafaa § @ w0 @ fose w1 yg@ ‘e’
TR ?

(A) Tece et (B) Yd-ufsrarars feurfa

(C) <ThIT =T (D) 3TU=iEs T

Mental activity that goes on in the brain when a person is processing information is called :
(A) Learning (B) Mental imagery

(C) Thinking (D) Concept

S I3 Al G HI FEIMUG BT T BT & A1 wieash § e el afees mhafafy
FHEATA B

(A) 3t (B) | ShedaT

(C) TemRmw (D) Heheadl



24,

25.

26.

27.

Formula of IQ is :

MA
(A) CA X 100

CA x 100
© —Ma

i fet fFrebre w1 g 2

MA
(A) CA X 100

CA x 100
© —Ma

Assimilation is :

(B)

(D)

(B)

(D)

A
MAxlOO

MA

EXIOO

A
MAXIOO

MA

ﬁxlOO

(A) Current schema to interpret the external world

(B) Process of changing to better
(C) Adapting to internal world
(D) None of these

TR & :

EE
=

(A) SIHTH THIT ST T STl ST o Tarversor o fog

(B) gt d s <l ufsha
(C) Aiafe g o 3Tkt BT
(D) T A HE off T

The three pillars of education are

b

and

(A) Teacher, Student, Curriculum

(B)

(C) Education, Methodology, Teacher (D)

e o < T U E ,

g

Principle, Teaching, Aim
Importance, Teacher, Objectivity
|

(A) Toreres, BT, TR
(C) Twrem, femanfarfer, freres

Dyslexia is :

(A) Difficulty in reading skills
(C) Difficulty in writing spellings
(A) e H HiETE

(C) ot foram 1 wfsars

(B)
(D)

(B)
(D)

(B)
(D)

Torgra, fareon, 38w
e, fRiereh, SegiEa

Difficulty in understanding maths
Difficulty in competing

TTOTd U T hiSTE
gfereqat 3 sfers



28.

29.

30.

A series of pictures is shown to the subject and he is asked to make a story, is used in

projective technique.

(A) TAT (B) Role Play

(C) Rorschach (D) Dramatic Production

=fed ! =i 6 T Een fc@E It 2 3R 38 Th HgHl §9H o o Hal I 7, I8
ey dehie B gEd TR Sman 2 |

(A) UM TIIE0T GHe (B) yftrem frafe

(C) Tl (D) ehr wegfa

Which among the following is not a subjective method to assess personality ?

(A) Individual history (B) Interview technique 2
B

(C) Inventory technique (D) Rating Scale

freferfiea § & s €t Sfadca 1 3Tehei i & fordl veh =afama fafy i g 2

(A) SafdeTd gfog@ (B) WIEIThR qehrilh

(C) TEH doheileh (D) et wrot

Which among the following doesn’t fall under the classification of mental retardation ?
(A) Mild retardation (B) Moderate retardation

(C) Severe retardation (D) Acute retardation

frfetiiaa ® ® s |1 AR HedT o qfieor % A T8l A1 8 ?

(A) Eeshl Hedl (B) HeH Hedl

(C) T e (D) s Tea



31.

32.

33.

34.

35.

Qug - 11
e - 1
=it
39 @V T pet 30 TH B |
qsft g 3rfEr & |

Freferiiaa et i Ugeht I8 TTT TET o TR TRy« (9 T 31-36 %)

A 3R ua: feT 3k Ta faumar 5o wem # sfua 3t sy smenfarss vt < gfy
AT 7 | ARG T 3Th T 3 AT 2 A IG Ieh! UG =, M3 T 3R 311 & T Ll ¢ |
T g fohelt =l T <ar | Afe 3aen! 18 9@ ¢ ¥t ¢ a1 3HehT 30 T & i it 3]
Wit gi-w{l 8; T sEehl g7 ot 2, Bt 3Eehl AR 2, W gEHT [ 3R G
WM 2 | AT ! =T, TeAHT, Raetm -, 3ues st 6t 3199 s i awE | T,
T HTHTI % = I WY T TSI ST T 1A H A & 7 &1, i 3 99 S 9
foramT o @ ST ], 3T e 1 @l | % T | 31 el & — “Hict Wie fiel TgUs” Wit
Tl feRaTT <l SYR 379 Gol CIGR 1 S <l & | 3eh! R il S § & I 3R IS0 B-
TR ITeh T T IS @ | A Fhid o TIH F1Y 2 |

Forenr saeh gea § Srfu=a 3TN 31eyd 3eanfares wri i 9fy et 7 1 F=forfaa e 9
T@ifehd e & fir=1 378 W@ aTe 9o © -

(A) TRHTHT § TraY @ 91T | (B)  3TTcHT TEaeft 9 |

(C)  SATCHT-THTHT § F&-9 W& a1eTl | (D) G0l SIeTer |
fferfad vreci # sgaeA W B -

(A) gf (B) @

(C) T (D) T

‘I 7 fopehl 1 el ol & | o1 fopa et i € 7 i}
(A) 319Ul 9@ (B) | ufersra et %’E’g
(C) WM dehT (D) I HTeA

frferfaa weqt @ firt forg ST 3eRTT 2

(A) ®1g (B) wefd

(C) == (D) SEH

TR 3R : T 3R Ua fautar 36 7ew 0 sl 3R seva snenfares wiat 6 gy
AT 2 | T H EieRd Seg 1 faudd forg g

(A) Tagrh (B) faum

(C) faurh (D) fauma



36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

U THId h A WY § | Il IO YAehTel § See X A BT

(A) A THfd & Fa= Y 7 | (B) ¥ Rl o ST |Y & |
(C) I e o & €19 &I T | (D) 3 WIE THid o FaH a1Y & T |
Fraferfaa amer o fqemaras aw & -

(A) I B0 a2 | (B) AUFEMRE |

(C)  3TISHT ITUHAT HHU HTH H | (D) 3R | I FATE T |

TIAT % 3TN T el 4 8 =7 amer & -

(A) WA (B) Tuy o

(C) TrigmHs ar (D) I I

YT 5@ -TG ATG ST 378 i Fehe i aTeTl HaTe & —

(A) =€ EEMAT (B) =Sl qrt U

(C) =X Gohent THTRIT T (D) =T BT

‘TG 1 3T, T3 1 [ Aehifad 1 31 @ -

(A) TH-sgrRT ferafe Hiet o | (B) qUld: e e |

(C) &9 3R HT & HTEH | (D) SfgdH foprg v |

TR AT o freror <6t wreh faferr o @ fir fafer 2 -

(A) ST TEe Tty (B) 3w fafer —_—
(C) e fafy (D) T3 -T&T UITedt e
Tregor IuTTH H Y TH ThHER T T A0l MM & -

(A) g&o e (B) = fareqor

(C) TG AT (D) s Rremor

TH 1o § WY forehra ot Tfd & g1 &, heddt, fawa, qeh wifeaa st & 3R 31 o=
o A & |’ ST SToTeh < fohd hlcT o fTU haT & ?

(A) TIEH HTA & foTu (B) g w1et & ferw

(C) Tora &1t o fotw (D) 3919 HTA o T

eyt ved, fowa |mft W yed ge, fafay sfenfiastt & smsE, wart, s, s
HRIHH AT, Sl o S T ST Sieh AT Seatie niafafert s sivet fosha # forg T
o §ToTeh] o fT 8 ?

(A) &R (B) I= weifire w1
(C) e e &R/ (D) wET=Ter Rrefo &R’
=1 o foTw WrT TR o1 Haam 99 BT 8 -

(A) 6% 99y 3 (B) 12¥ 1599 g &t

(C) 18¥ 21 oY g = (D) 2192499 g &



46.

47.

48.

49.

50.

Te=dt Torer & gt eafrl St T e gAY IERW # foRg TR % BEl % fou wey o

A8 ?

(A) TR TR ™ (B) JATTW T
(C) PRITm ™ (D) e TR W
TG ~J&Tehi o =1 dwal H & =1 aw & —

(A) T (B) eht

(C) fTorwg gmmft (D) =T St
TeTE T T-i < T TR | 9 T TRR B -

(A) Sgfahedd T (B) T I
(C) TreaTeTs A (D) arfiepd A
frefaRaa wreai # e oot 61 ST forivar arer 7o @ -
(A)  Toveeferar (B) ST

(C) AfcrATIRdT (D) ATl

T Td ST YeToh JUITeH S & T I8 ATHRL A 8l Tehdll & 518

(A) TR T&Td IEd B, ST YeATehd o TTfeh T o TdTeh ST 37T I |
(B) Tarerent, o wa SAfrvreenl Sl GHI-g9g W E=E T & |

© BT W TEER GHETT T a1 o4 98 9ed @ | X

(D) Forer 3 o1 G Tanat § ore G P oS Sm A E | B

Freferfaa et i Ugeht I8 T TET o ST fIfaT : (I 9. 519 60) :

A QL I R 98d el § WIST UgTd =ci 37Td g, TRl =X STeATal o ST &1 &1 TA1eh ohl

o1 <h1 T B | 3ok 3T &1 7 fe@ms <°ft, AU, rrar 3 iiveran o6 feard uerft | vt w=h
IgTet < BT % o= T, IcTE IR qCadn i w1 o shrenfe o @ gedt fows uet, 39k
HiecE T T AT A1 HUTT | TH T BT TG shiel VAT & 2 | 98 Hifeeish oot & ; ATHH 19 T |

TUE 1T 1 2l Teh (UM 2 | TSIUS TSIohid 8 3T Alshehld YHehIT & | ST&1 USThIT UHehIT §

Ther i fe@TE U, @7 38 UShi 7 HWEe $© TRy WS &1 ST THSHT =1y | THT ST

USTohIT o HEwd 3T Ifersrar o1 31ferep i) &l 81 Fehdl | 3Heh! TR ST 379 foru strerves 78 gae
Hehdl |

51.

G 3o HT I @ -
(A) HfeT B) ffyma
(C) W& (D) gdig



S52.

53.

54.

5S.

56.

57.

58.

59.

60.

‘TR ITec | G T ThR 3 -

(A) TRy (B) g @ty

(C) FuwHEY (D) <ty
HIAT e H HHATE B -

A) fgqauma (B) &g au™

(C) dcgey @H™ (D) HUYRT THH
frefarRad wreet & wTaeTEe T3 Iee & —

(A) 3T (B) dw [mem
(C) wferran (D) € =
frferRaa wegl & ST v § -

A) B (B) "=

(C) wrfearh (D) BT

g Qe 3R 9gd I & g1 ugaTd Jol 37 5 Fopell G STear=mdl 1 S71 A1 g A hl
&THT HHT 8 | TR T W@ifehd I1eg T fr9INuT 1 YR & -

(A) TUTETEeh ferreoT B) Tifvea ufarmorarass fagor

(C) ffyaa ufmmmares fomor (D) EehddTaeh forRiyor

Frfrerar e § T HIIHR 2 -

(A) U= FHd T (B) U@ hd T
(C) wTeaTg dfgd I (D) fsRamam=resh %d T
g uTd T8 FeaT o yadt 7l " — STt @ foTT T vTeg B

(A) wfere (B) drfeaeht

(C) wretes (D) &

PIT I I T TeE & -

(A) U (B) Ffud

(C) =i (D)

I I AT ITeE B
(A) 3cHTE (B) 3WER
(C) I D) g
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32.

33.

34.

35.

36.

37.

38.

39.

40.

SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Choose the correct interrogative sentence :
Had been it raining for long ? (B) What been it had raining for long ?

(A)

(C) How had been it raining for long ? (D) Had it been raining for long ?

Choose the correct option to fill the blank in the sentence given below :

Admittance to him by the guard.
(A) were refused (B) was refused
(C) are refused (D) will be refuse

‘So help me, Heaven !” he cried, ‘I will never steal again.’
Choose the correct indirect speech of the above sentence :

(A)

(B) He called upon Heaven to witness his resolve never to steal again.

(©)

(D) He called upon Heaven to witness his resolve not to never steal again.

He called upon Heaven that I would never steal again.

He called upon Heaven to never steal again.

Choose the ‘Affricate’ sounds :

(A) |4, d3] (B) |[m,n|

©) [fv] (D) 16,9]
Phonetic symbol / transcription for the word ‘Guttation’ is :
(A) | ga'taf(o)n | (B) | ga'terf(o)n |
(C) |ga'ttes(o)n | (D) | ga'ttors(o)n |

The fundamental order of listening, speaking, reading and writing should be followed; it is

the general characteristic of :

(A) Principles of selection (B) Principles of gradation
(C) Principles of habit formation (D) Follow the natural way
‘Leading from simple to complex’ is used in the principles of :

(A) Gradation (B) Habit formation

(C) Controlled vocabulary (D) Follow the natural way

Which one of these is a principle of ‘Translation cum Grammar’ method ?

(A)

(B) To establish bond or a link between thought, expression, experience and language.

(©)
D)

Which method is a midway between the two old methods; (Translation cum Grammar

To teach English directly.

The unit of teaching is a word not the sentences.
The sentence is the unit of teaching in this method.

method and the Direct method) ?

(A)
©)

Which one of these is related to the ‘Inductive — Deductive method’ of teaching English ?

(A)
(B)
(©)
(D)

Inductive — Deductive method (B) Bilingual method
Dr. Michael West’s new method (D) Audio Lingual method

It is a slow procedure.

This method discourages the students to be mentally active.
Priority of reading.

The sentence is the unit of teaching in this method.
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Which skill is the basis of good learning of the language ?

(A) Speaking skill (B) Explaining skill

(C) Reinforcement skill (D) Listening skill

Choose the correct option which is not a technique for speaking skills :

(A) Reproduction (B) Question — Answers

(C) Role play (D) Model Reading

According to Thompson and Wyatt, how many objectives are of teaching rapid reading ?
(A) Three (B) Four

(C) Five (D) Six

Who was of the opinion that reading ability can be developed by reading books in solitude
with ease, interest and pleasure ?

(A) Menon and Palet (B) Robert Lado
(C) Rajgopalan (D) West

E[E
Oral reading is also known as : Eyied
(A) Intensive reading (B) Silent reading
(C) Loud reading (D) Library reading
Checklist, Rating scale, Interview schedule and Anecdotal records are tools for :
(A) Summative Assessment (B) Informative Assessment
(C) Annual Assessment (D) Formative Assessment
Which of these is not a technique of evaluation ?
(A) Appropriateness (B) Effectiveness
(C) Imitation (D) Practicability

Check-list technique is used for evaluation :

(A) results, attendance, participation in games, sports.

(B) interest, attitudes and values of the students.

(C) of significant event and work performance of the students.
(D) None

Which one of these commissions and committees has not made recommendation to
encourage internal assessment through continuous and comprehensive evaluation ?

(A) Hartog Committee (B) Hunter Commission

(C) Mudaliar Commission (D) None

Which one of these is not objective of CCE ?

(A) To make the process of teaching and learning a teacher — centred activity.
(B) To make the process of teaching and learning a learner — centred activity.
(C) To help develop cognitive, psychomotor and effective skills.

(D) To make evaluation an integral part of teaching — learning process.

Read the passage and answer the Question Nos. 51 to 55 :

India today presents a very mixed picture of hope and anguish of remarkable advances
and at the same time of inertia; of a new spirit and also the dead hand of the past and of
privileges; of an overall and growing unity and many disruptive tendencies. Withal there is
a great vitality and ferment in people’s minds and activities.

It is remarkable thing that a country and people rooted in this remote past, who have shown
so much resistance to change in the past; should now be marching forward rapidly and with
resolute steps.
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Choose the synonym for the word ‘vitality’ :

torpidity
externality

agony
affliction

Presantation
Resoluation

disruptively
disrupter

disruptive

[me'[E
il
[

(A) lethargy B)
(C) energy (D)
Choose the antonym for the word ‘anguish’ :
(A) ecstacy (B)
(C) excruciation (D)
Choose the correctly spelt word :

(A) Fermantation (B)
(C) Picturesque (D)
‘Adverb’ for the word ‘disruptive’ will be :
(A) disrupt (B)
(C) disruption (D)
Choose one word for ‘a tendency to do nothing or to remain unchanged’ :
(A) anguish (B)
(C) ferment (D)

inertia

Read the passage and answer the Question Nos. 56 to 60 :

The rich can provide their children with all that money can buy : rich food; expensive
clothes, cars and every other imaginable comfort and luxury. But they simply cannot give
them what they need most — parental care and affection on a personal level for which there
is no substitute in the whole world. These children who are brought up almost entirely by
hired attendants develop a twisted personality. Their rich, busy and well-bred parents are
one day shocked to find that their children have developed some of the traits of their own
attendants which are, to say the least, considerable less than well-bred.

......... and every other imaginable comfort and luxury. Here ‘imaginable’ is :

(A) anoun (B)
(C) anadjective (D)
Choose compound adjective from the phrase ‘well-bred parents’.
(A) well-parents (B)
(©) well (D)

a conjunction

an adverb

well-bred
bred

Which one of these phrase has a determiner in it ?

(A) But they simply cannot give.

(B) The rich can provide their children all they need.

(C) There is no substitute.

(D) Hired attendants develop twisted personality.

‘These children who are brought up almost entirely by hired attendants develop a twisted

personality.’
Which tense is used in the above sentence ?
(A) Present perfect

(C) Present indefinite

Which of the following has the three degrees of the adjective in their correct form ?

(B) Present continuous
(D) Past indefinite

(A) Simple, more simple, most simple (B) Rich, more rich, most rich

(C) Little, less, least

(D) Expensive, expensiver, expensivest
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SECTION - 111
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

You be ashamed of yourself having made such a comment.
(A) may (B) should

(C) can (D) could

He chased the thief as far as he .

(A) may (B) should

(C) can (D) could

The car seemed to have

(A) beat the bush (B) tried to pin

(C) vanished into thin air (D) boarded the wrong train
‘Drama’ originated in

(A) Greece (B) Rome e
(C) Ttaly (D) England &
An ‘octave’ is a stanza with lines.

(A) ©6 (B) 14

) 12 (D) 8

The twenty-six letters of alphabet have sound symbols.

(A) 20 (B) 24

(C) 44 (D) 45

The phonetic symbol of the underlined letter in the word ‘thin’ is

(A) o (B) 0

© 3 D) ds

The phonetic transcription of ‘lung’ is

(A) /lag/ (B) /long/

(C) /long/ (D) /lem/

The word having the sound of ‘ea’ is

(A) pear (B) hire

(C) moor (D) roar

‘h’isa sound.

(A) voiceless (B) voiced

(C) palatal (D) wvelar

‘Expression should be impressive’ is an imperative of

(A) Accuracy and correctness
(C) Measurement

(B)
(D)
‘Freedom on part of the speaker is essential’
(A) Direct method (B)
(C) Communicative approach (D)

Naturalness
Evaluation

........ is a rationale of

Structural approach
Substitution approach
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is an advantage of communicative approach.

(A) Listening (B) Speech ability
(C) Writing (D) Reading habits
Language has

(A) script (B) gesture

(C) feeling (D) sound

If a Bengali family lives in Delhi, the children in the family will learn
from environment.

(A) Bengali, English (B) Bengali, Hindi

(C) Hindi, English (D) Hindi, Sanskrit
Evaluation is done on two basics

(A) cumulative (B) terminal

(C) sessional (D) formative and summative
The comprehensive evaluation involves EEE
(A) assessment of answer books. ke

(B) performance in co-curricular activities.
(C) assessment of health habits, work habits, cleanliness and co-operation.
(D) All of the above

‘Class magazines’ is an example of
(A) assignment (B) project work
(C) writing test (D) speech test

One of the objectives of the remedial work is to

(A) highlight weak students.

(B) identify the cases who are lack in studies.

(C) spot the weak and punish them.

(D) make the weak students aware of their backwardness.

Remedial teacher should keep a liasoning with the parents to
(A) ensure the weakness of their child.

(B) help in identifying the cause behind child’s lagging.
(C) work in same environment.

(D) rebuke the students.

(Prose passage Q. Nos. 81-85)

in family and

Almost the whole village stopped to watch the big boat being built at sometime or the other.
No one owned such a large boat or even worked on one. Perhaps they were jealous and that
was why no one had a good word for it. They did not want to believe, it would do well at
sea. But, they, in a way, were proud too. Building a big boat like this in their village was an
achievement.

Do you like to eat a pizza ? Do you prefer a hamburger ? The two questions can be combined
using

(A) and (B) or

(C) but (D) that
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I am sure. It is true. The two sentences can be combined using

(A) so (B) than
(C) but (D) that

Many a man done this.

(A) is (B) has e

(C) was (D) were o

Gold and silver precious metals.

(A) is (B) has

(C) have (D) are

e no one had a word for it’ ......... The underlined word in the line from the passage
stands for

(A) the boat (B) the people

(C) sea (D) achievement

(Poem Passage Q. Nos. 86-90)

‘Weavers weaving at break of day,

Why do you weave a garment so gay ?
Blue as the wings of a halcyon wild,

We weave the robes of a new-born child.’

‘Blue as the wings of a halcyon wild.” The figure of speech used in the extract is

(A) alliteration (B)
(C) metaphor (D)

The rthyme scheme in the stanza is

(A) aabb (B)
(C) abab (D)
The plot of a story may be

(A) comic (B)
(C) satiric (D)

Dravid was the wall of our cricket team.
(A) Simile (B)
(C) Personification (D)

Inanimate objects and abstract notions are spoken of as having life and intelligence in

(A) metaphor (B)
(C) personification (D)

simile

assonance

bbaa
abba

tragic
all

Metaphor
Rhyme

simile

plot
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(A) 54 (B) sl
©) 2l (D) v

‘glARULAL B3 B8R — AL s [ABA & ¢
A) [(adlu (B) vl
(C) MAHL (D) 8l

UgAHiRll HUL A3 ASRIRIEL UOEIA 5L A0EL SSUU € 9
(A) dcdH (B) dgeid
(C) & (D) UM



68.

69.

70.

71.

72.

73.

74.

75.

76.

NN

‘e UoE 54 Rl 2L S ¢
(A) sRl (B) 3w
(C) =Roll (D) il

[Qzne{lAML AstiFs 2AE0R (s iz 56 2alBls wsld g Guldll ol 25 & ¢
(A) =R gld (B) oyl ugld
(C) ARAR wgld (D) del ugld

Al2lAriell 53 Hsd Al BelszeL 2l ¢
NEREDWCE (B) 2lu€sial e
(©) el (D) sl uly =

PLuisHl Alzs, WA, dldlsd el deieafis Ugfil sl Slaieun snddl ugi

-~

e ¢
(A)  3qul sl (B) su- Slaex
(C) <l Slale (D) &uid Slaied

el sl ubu s ¢
A) WROUBUY. (B) sBAubus.
(C) Sdaall usus. (D) “wsrfrascadl uEu 6.

[Rotuicrs WAL HALEL §R SRl HI2 Bl UsIRAL WS R2UAL SIAUML 2L 6 ¢

(A) gslusl (B)  t-lcHeadl usll
(C)  ilaagyRicHs Ul (D) dsleus usll

AR 58 5012 Rlats R sA12L A2l ?
(A) i Heuls (B) s HEis
(C) uxlaw 112l (D) oifs 59121

AR AL AL ALRURRAGL ov ULl
(A) 555124 ARIERI sl (B)  ¢lRel 2 WRegAl 2L
(C) ezl CAelREL 24 GUML (D) GuRlsd el

val [ Br2uRl WAL sRIlE dlg-2auAlHL 5L AL AL 2l 42 7
(A) el (B) <R3
(C) €ls (D) il



77, A2 U8l 8 [ 0 8 ¢
(A)  sieliets stemHl 2 Adgzlle Slal .
(B) e [SEL&L%H} atfgtct— [ﬁsl}-—l-isll-—l €l 31 6. mym
(C) et [RueasH Hellfdsuin stiA o3l 2l e
(D) cunRias [FRiuce] i 215 .

78, HIQCUMIAL WA YRS CUBL EgtBll oreLLdl.

(i) ey (i)  oti=ell 2 Hgol
(i) [d™aarg (iv) &ML
(A) (iii) (B) (i) 2t (ii)
(C) (iii) 2 (iv) (D) (iv)
79.  [(2ats 2aels g1 (el Heuis 56 gl sKlas 6 ¢
A) [FRlae (B) Aslewre
(C) & HIUES (D) GuRlsd il
80. A2l A2y AUSARAUAL ALOUAL
(A)  URALAL AL 5L (B)  CHHI Ae520L AR UHRAL.
(C) A uARIG 6l Y, (D) 2tloua Yg el HA 8.

Al AN AL AR U2 AL 81 2L 83l v ellod AL

UL 58] A 53l 2 sl Blsicd G{lBHA o= U dl WL R Hidl d=TE 209 dull
wodld éld. e ellsdl 2s, ollsmdl Fiyedy, ellsid ogd 2 ellsid) drasiid 21
{14y [t HI2 SHAUA PEIUIRL B oAl Y 6. il 24 ARl PALARRAG el HeYRMAL Hicll
AR1E 2AMBL LA BALOTAIRA €51A.

-~

81.  &alsicl el HLcl d=[E 201 51 ALA 51 ¢
(A)  AUHAIA (B) U
(C) AMer (D) AR

82. 25, [Rysl, eI A cirdlsiiA ¥l Sl LI 4RI HI2 SHRUL RAEIUIRL =3, ol Yzl

-~

1304
(A)  Mde odv (B) el $™L
(C) 1% (D) gilu-

83. HEMIW ACEHL SALAHRUE ¢
(A)  g=g UHIL (B) Al
(C©) dRM™ (D) ¥R



AR AN YELULLAL AR WHAVUL 84 20l 85 oello AL :
2l 355 Bl BasHl gls
£ YuLs-AUe A gHgH-L [dasHl elszL.

Relerd R 52 B o UL URGUM B,

-~

SlAR € sl a7l MssHL el

84. 8l 2L SUL AU B ¢
(A) &di-l BesHl (B) uRl2AlHl BesHl
(C) &dlAiAl Basul (D) 2RIl BesHl

85. “uRuuw’ o [l aveudl.

(A) yfecdl (B) llet
(©)  Ayuslcl (D) si¢ (el

86. SISl el AR, 22U, Al A GlLdAL AMA L SSA, ¢
(A) sl (B) ud-1H 5@%@
~ ~ =
(C) [l (D) Balazivel

87. Gllddl ALl sl A2l dlsaHl Buldamel s34 6 ¢
(A) Bala (B) iloll
(C) ulsdl (D) -l

88. “SlRiAl s[B151 AMIA ARE ASAHL PAESIRAL USR QUL
(A) 345 (B) GumL
(C) Geual (D) <alars

89.  CUMRML Ol dALsl, OB ASal SIH Sl ME 2 S8 ?
A) el (B) <t
(C) HArs (D) U
90. L2l MRl AL Al AL
(A)  §Ws Ay e, (B) HSRIY doyAUAL §4R SLECLL v AL
(C) &R HERIYA HOAL 2L, (D) ¥ AU AU 53 sl



SECTION-1V /@Ug - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

30 @Ug | § Iwgvs 31Tq 1V (a) Tiu aen fa@m wa 1V(b) |mfstes 2iea@m 8 | gH1 STavst &
Seh | 60 TgiTehed 1T T3 & |

wireneff 61 TV (a) niftra aen fomm srean IV (b) wmafster sreaam, fSeet w=@ 31T 3Tt -u |
foran &, # @ foreft weh 3T@UE 1 1 § T | 60 ST HTITEATR |

SECTION-1V(a) / ©UE — IV(a)

MATHEMATICS AND SCIENCE / fota qen fosm

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

38 @Ug H Ht 60 T 2 | T st 3 g fower o1 == fopan 2 378 weft wromt s arfamd 2 |

o
91. A factor of the expression x> —2x + 1 is : =
(A) x-1 B) x+1
(C) x+2 D) x-2
RSAb x3 — 2x + 1 1 Teh UGS 8 :
(A x-1 B) x+1
C) x+2 D) x-2

. : 2 2
92.  The solution of the equation 37—+ 5 =01s:

A 0 (B) 1
<€ 3 D) 2

2 2
IR 3 + 5 e = 0FIFAR

(A) 0 B) 1
© 3 (D) 2



93.

94.

9s.

96.

97.

3
8 |10 ><\3/125 is equal to :

Jie V49
(A) 7 ®) 2
4 1
© 3 D) 7
Y8 [100 4 '
ET TQXMW% glﬂ*!li!
7 [=
A) 7 ®)
4 1
© 37 D) 7

3
The simple interest on a sum of money for 5 years becomes 3 of the principal, then the

rate of simple interest will be :

(A) 10% (B) 8%
©) 12% (D) 14%
ﬁﬁaﬁwﬁwsaﬁwwwmwmw%ﬁm%,aﬁmwmaﬁa‘@ﬁ:
(A) 10% (B) 8%
©) 12% (D) 14%

If the loss caused by selling an article for ¥ 560 is ¥ 50 more than the profit made by
selling it for ¥ 720, then the cost price of the article is :

(A) T 665 (B) %615

(C) T 600 (D) %620

e fopet o oI T 560 T = @ 53 g1, T 720 H 9= | §U Y & T 50 3714k 81, a1 a%q 1
FATA R -

(A) 665 (B) 615

(C) T 600 (D) %620

If the cost of 5 bananas and 4 apples is equal to the cost of 3 bananas and 7 apples, then
the ratio of the prices of a banana and an apple will be :

(A) 1:4 (B) 3:2

(C) 4:3 (D) 3:5

Ff¢ 5 ht AT 4 EE1 1 JeF 3 hel AT 7 T o Jod o SR &, A1 Teh ohel a1 Th 89 &
T T ST BT

(A) 1:4 (B) 3:2

(C) 4:3 (D) 3:5

If 75 is added to 75% of a number, the same number is obtained, then that number is :
(A) 300 (B) 270

(C) 250 (D) 225

At ot F@A o 75% H 75 Sgeht TE HEA1 I1d &1 ST, ol 98 HEA1 2 -

(A) 300 (B) 270

(C) 250 (D) 225



98.

99.

The present population of a village is 1,30,910. If in the previous years there is an increase
of 6%, a decrease of 5%, an increase of 4% respectively, then the population of 3 years
ago was

(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000

Teh TITel oh! FHT SHEET 1,30,910 7 | AT 7d 91 | ST 6% hl JhG, 5% ol HHT, 4%
(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000

In the given figure, the lines XY and MN intersect at point O. If ZPOY = 90° and
a:b=2:3, then the value of Zc will be :

N
M
w2/
a R
b
— 3 s
Cc
N\
(A) 90° (B) 126°
(C) 144° (D) 150°

fou 1 fomt 1 @ XY 991 MN feig O w wfa=ssg st 2 | 3 ZPOY = 90° 3R a:b=2:3
B, @l Lc T qH 8N

M

H
v

(A) 90° (B) 126°
(C) 144° (D) 150°



100.

101.

102.

103.

104.

If all the three sides of one triangle are equal to the corresponding three sides of another
triangle, then the two triangles are :

(A) Perpendicular (B) Congruent

(C) Parallel (D) None of these

afe Tk Fryge i it o, R gt <) e T e % swe El, o S By i E
(A) T (B) waimad

(€) wATw (D) &8 & hIg &

The length of a chord at a distance of 6 cm from the center of a circle of radius 10 cm is :
(A) 12cm (B) l4cm

(€) 18cm (D) 16cm

10 T F3ran of1ed et o ohegs § 6 Bieiet gt wr fevrd Sfterm <61 wrs &

(A) 1235 (B) 149 —_—

(C) 18%d (D) 163t B

If the perimeter of an equilateral triangle is 48 cm, then its area will be :

(A) 64+[3 cm? (B) 5542 cm?

(C) 324/3 cm? (D) None of these

e ferel TmaTg Bivs 1 uftumy 48 T 21, df 3HehT &%e g

(A) 64/3 =t ot (B) 552 @i adi

(C) 32+/3 =t &t (D) 378 q HIE T

If the lengths of the diagonals of a thombus are 10 cm and 24 cm, then its perimeter will
be :

(A) 34cm (B) 68cm
(C) 52cm (D) 56cm
Ife ush THIqHS o forehurt shl TiaTgat 10 S=HTet 3R 24 T=AHIeT &1, ol IHeh! IIHETT EHT -
(A) 343t (B) 68 T
(C) 523 (D) 56 @t

A room is 12 metres long, 9 metres wide and 8 metres high. What is the longest rod that
can be placed in it ?

(A) 29 metre (B) 17 metre

(C) 15 metre (D) 21 metre

Teh AT 12 Hiet o=, 9 Hiet =i a2 § it S 8 | 300 oS! § o fehat ot S Wl I
TRt & ?

(A) 29X (B) 17#&X

(C) 15#HIX (D) 21 Hi&X



10S.

106.

107.

108.

The main objective of tabulation is :

(A) Presenting the data on the basis of their characteristics.
(B) Presenting the data in a systematic manner.

(C) Presenting complex facts in simple form.

(D) All of these

AROf T g&T 33T 1 -
(A) GHhi ! ITh! ForIwaTatt o TR W SR T |
(B) @HeI I HHEG AT €I H T&IA HEAT |

(C) et aeal o oel &9 § T&d T | gﬁ
(D) ot

The mode value of a series is :

(A) Intermediate value (B) Most frequency value
(C) Minimum frequency value (D) Marginal value

feelt Soft <1 Sgeteh e B -

(A) HeHad g (B) Haifersh STreRaT qod
(C) IIdH ST Hed (D) HHT= g

The coordinates of a point on the X-axis are :

(A) (2.3 B) 0.2
© 2,0 D) 1.1
X-3187 7 e foreg o6 ficemen &

(A) (2.3 B) 0.2
© 2,0 D) 1,1

The probability of having 53 Tuesdays in an ordinary year is :

1 2
A 7 ®) 7
3 4
© 3 D) 7
Teh HIGR 98 § 53 TR &1 i STRehdT & -
1 2
A) 7 B) 7
3 4
© 7 D) 7



109. Which of the following is a teaching aid of Mathematics ?

(A) Napier strips (B) Logarithmic table
(C) Geometry box (D) All of these

Fr=1 o 5 wrfore fretor <t Egees wmft |

(A) A afet (B) Ao RO
(C) anfufy st (D) I oft

110. Which of the following Mathematical statement is true ?
(A) Evaluation = Measurement + Judgement
(B) Evaluation = Measurement — Judgement
(C) Evaluation = Judgement — Measurement
(D) Evaluation = Measurement + Judgement

e 8 8 e w i s Ee g 7
(A) ToATR = AT + For (B) TR = AT — fofg
(C) WouTeh = i — A (D) FeATh = AToH = Forg

e[
il
[

111. Which of the following is not an Indian Mathematician ?

(A) Ramanujan (B) Brahmagupta
(C) Aryabhatta (D) Pythagoras
=1 o 9 1 W TTiTas T8 @ 7
(A) THHSH (B) SEITA
(C) 3w (D) THUTIRH
112. Which of the following is not the type of cognitive objective in Mathematics teaching ?
(A) Knowledge (B) Understand
(C) Skills (D) Application
frfaRaa 9 & s |1 TITa 7870 § ST 3639 1 U YR T8l & 7
(A) IH (B) 3r@Eg
(C) i@ (D) STIIER

113. Which of the following is not a method of Evaluation of teaching Mathematics ?
(A) Supervision
(B) Interview
(C) Teaching model created by student
(D) Dictation
et 3 & o 2t e Rreon 35 gearien <61 farf T R 7
(A) e (B) TIETeHK

(C) BEI g sAT Wgwraiear (D) i@



114.

115.

116.

Mathematical statement whose truth has been proved is called :

(A) Theorem (B) Axiom

(C) Conjecture (D) Postulates

Tt e freeht weran fag & TS 7, waeran |

(A) ¥ (B) stfmfed

(C) HieFel (D) AR EEm
B

Main objective of Geometry teaching is :

(A) To teach the use and measurement of mathematical tools.
(B) To develop creative imagination in student.

(C) To develop the power of object transmission in the student.
(D) All of these

T@TTeTd f3reqor 1 THE LT ¢

(A) TTIOTC™T IUhTUTE & J=INT TS HT9 =T [ AT |

(B) S H TEHTcH heuT Tth o1 fIehTd T |

(C) B H a%g Jwvr wrfeRT 1 forehrd T |

(D) ATt

“Child is able to Recall definition of Rectangle.” This statement shows which learning
objective ?
(A) Understanding (B) Analysis

(C) Knowledge (D) Evaluation

“STeTeh A <h! TRWTHT ST TATERTUT T ThT |7 ITE B HH & F(UTH 37T 1 Telid
HIAT ?

(A) IHaEy (B) Terveryur

(C) = (D) TR



117.

118.

119.

120.

A child is able to construct a triangle on the basis of given measurement. Which main
objective fulfill through this activity ?

(A) Receiving (B) Responding

(C) Valuing (D) Skill

Teh STeteh TEU 7T ATY o MR WX Teh TSt Y TaA1 6 UTaT 8 | STeteh shi 39 Tifafafer gro form
T 39 H gfd B 8 ?

(A) 7w (B) FFR

(©) e (D) e

Children with strong intellect do not have qualities :
(A) They are more curious. Eiy
(B) Their area of interest are broader.

(C) They are emotionally unstable.

(D) The knowledge of reasoning is visible from young age.

TR g Tl STeTehi § 78 101 TE B & —

(A) 3 e g B § |

(B) 3eh! &1 T & <419 BT & |

(C) ¥ FTeTeh HATTCH GIY & 3TEITS Bl % |

(D) 3T ¥ & b IIferd b1 A ISR BT 2 |

If 30 T8) =27@x*+ 1) then the value of x is :

A) 0 B) 1
© 2 (D) 3
Fie 36+ =272+ DF A x HIAAR

A) 0 B) 1
€ 2 (D) 3

1 1
If x + y =7 and x* + y? = 25, then the value of(;Jr;) is :

12 7
A = ®) 33
7 1
© 13 D 15
aﬁx+y=73ﬁ‘§x2+y =25§,?ﬁ&+37ﬂm%:
12 7
A = B) 33
7 1

© 13 D 7o



121.

122.

123.

124.

Full name of LED is :

(A) Light Emitting Doll (B) Light Emitting Dynamo
(C) Light Emitting Drum (D) Light Emitting Diode
LED &1 qU I 8T & :
(A) THI IcHh i (B) JehTST IcEsieh SIA-HT
(C) SehTT ScHSIh g (D) ThTIT IcESieh SIS

. &
Electric-cell converts %ﬁ

(A) mechanical energy into electric energy.
(B) electric energy into mechanical energy.
(C) chemical energy into electric energy.

(D) electric energy into sound energy.

fergga et uftarfda seam 8
(A) FibmSeiw fa@satd  (B) foega ot i Fifyes ot A
(C) THRMS Sl bl faga et 8 (D) Taegd Sott o1 &afd St &

Order of planets according to distance from the Sun is :
(A) Mercury, Venus, Mars, Earth
(B) Venus, Mercury, Earth, Mars
(C) Mercury, Venus, Earth, Mars
(D) Mercury, Earth, Venus, Mars

T 4 Gl o STER T8I HI A S
(A) 94, I, HTe, Get (B) ¥k, 94, 4eht, AT
(C) 94, Wk, 9T, e (D) 4, 9H, sk, AT

Which of the following is not a criteria of a good test ?

(A) Reliability (B) Validity

(C) Objectivity (D) Subjectivity
frrferiaa o & 5 o1 weh 30 wder %1 aves TE R ?
(A) Torveeerar (B) QeEran

(C) aEgrs (D) SEfFTTRRAT



125.

126.

127.

128.

129.

130.

131.

The process used in the separation of rice from paddy stalks is —

(A) Hand picking (B) Threshing

(C) Winnowing (D) _Sieving
Wﬁ{@ﬁ‘s’%ﬁﬁw%gwﬁwwé— mom
(A) & == (B) 9fzm i
(C) fiwamEm (D) =T

One of the steps used in the process of formation of common salt from sea-water is —
(A) Distillation (B) Condensation

(C) Vaporisation (D) Filtration

LT STl ¥ FTERT T0h S o YohH T T Ueh UE & -

(A) 3THeH (B) ®oH

(C) T (D) T=Ie

The chemical substance present in calamine solution that is applied on the skin to
neutralise the effect of ant bite is —

(A) Calcium carbonate (B) Zinc carbonate

(C) Sodium carbonate (D) Sodium hydroxide

<idl o T o THTE i 3G L & foTT, =T I A FH 9Tl hetare fae 1 ufera
TET uerd g -

(A) Ffcgam HEHe (B) TS wEme

(C) Wi Fete (D) wifeam BEgEaTEe
The oxide responsible for acid-rain is —

(A) H,0 (B) CO

(C) SO, (D) CoO,

ATt o foTu Iererh sTamse 2 -

(A) H,0 (B) CO

(C) SO, (D) CO,

The pair of thermosetting plastic is —

(A) Polythene, PVC (B) Polythene, Melamine
(C) _ Bakelite, PVC (D) Bakelite, Melamine
TR wATfEeeh 1 39 § -

(A) diferefi, drefieh (B) wiferefi, AermTe

(C) dehoirge, dritedt (D) ShaTse, HAHTE
The fuel with highest calorific value in kJ/kg unit is —

(A) CNG (B) LPG

(C) Petrol (D) Hydrogen

kJ/kg $hTE | TTTereh S8 T ITeIT 36 & —

(A) HiTTs (B) TeSA

(€) g (D) BTEZH

The type of teaching aid involved in experiment done by a student in laboratory is —
(A) Audio aid (B) Visual aid

(C) Audio-visual aid (D) Activity aid

ueh feremeff gy sRIwTeTTer # SR foRd S § ffea fegor dem 1 yeR © -
(A) &3 |1ed (B) ¥ @IeH

(C) &a-339 |1eHA (D) Torarces Tmem



132.

133.

134.

135.

136.

In which group the unicellular, Eukaryotic organisms are included ?

(A) Monera (B) Protista
(C) Fungi (D) Plantae
forg T H s HIRERR, it Sha aftrfed for s € 7
(A) HMHT (B) wWfewn
(C) ®=IE (D)
zo
After fertilization, a mature and developed ovary is known as — =
(A) Seed (B) Endosperm
(C) Fruit (D) Embryo
i o v, we foenfya o uftge 31veTer @b wEd & —
(A) (B) e
(©) ®d (D) 4o

Which one is not necessary for photosynthesis ?

(A) Sunlight (B) Carbon dioxide
(C) Chlorophyll (D) Oxygen
TRTITEYCTNYT o ToTT 3R STTaweh el & ?

(A) T H IR (B) s SRATHAES
(C) FARITRA (D) AT

During respiration in plants the breakdown of glucose to Pyruvic acid is called —

(A) Kireb’s cycle (B) Calvin cycle

(C) Glycolysis (D) Fermentation

G T YIEA oh G TC[ehISt ol UTS% I 317 | forered shaatrdl & —
(A) 5hoH = (B) hfcsH =5

(C) TIEhHIATI (D) feruam

Who first described Golgi apparatus ?

(A) Robert Hooke (B) Robert Brown

(C) Camilio Golgi (D) Leeuwenhoek

YU Tesl! TR i foher aftfa foram 7

(A) THTH (B) T S

(C) hHfieAr et (D) TIoEIH



137. Which bacterium causes ‘Whooping Cough’ disease in human ?

(A) Bordetella pertussis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae

I T SfiaT] & 7HE § el @il IR e 7

(A) SREee weR (B) eI fererdem

(C) WTShiSsIiET audt (D) i mafer

138. Which type of sweat glands are present in human skin ?

(A) Apocrine (B) Holocrine

(C) Eccrine (D) All of these EE
HE &= | WIE TFRT i 8 TR 1 Bl & ? i
(A) T (B) EICilshrs

(C) Tt (D) I oft

139. Disease caused by deficiency of Vitamin-D (Calciferol) is :

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
a2t (hfcafhia) 6t it & g IreT U 8
(A) Taieft (B) -
(C) et (D) frohea

140. In which animal asexual reproduction occurs by budding ?

(A) Amoeba (B) Hydra
(C) Plasmodium (D) Leishmania
B & o e g et S B R 7
(A)  Frra (B) MRSl
(C) wATHItSaH (D) et
141. Which hormone controls maturation of egg in ovary ?
(A) FSH (B) TSH
(C) ADH (D) GH
I A1 EHM ST H ST 3 aiusar i fEha s g ?
(A) FSH (B) TSH

(C) ADH (D) GH



142.

143.

144.

145.

146.

Example of sexually transmitted disease is —

(A) T.B. (B) Cancer

(C) Gonorrhoea (D) Pneumonia

A1 Gt T b ST B —

(A) . (B) W

(C) T (D) =

The example of Kharif crop is — Do)
(A) Gram (B) Pea =
(C) Maize (D) Linseed

T 6 HHA HT IR & —

(A) = (B) "X

(C) Tah! (D) 3TerEt

Which of the following is the oldest teaching method ?

(A) Reminiscences method (B) Evaluation method
(C) Projective method (D) Anecdote method
frfaRad 3 9 ®F € ga9 yr=iA e fafa g 2

(A) wfa faf (B) TR farfty

(C) w&mu fafy (D) hEmI faty

Meaning of comprehensive evaluation in continuous and comprehensive evaluation —
(A) Evaluation of educational field

(B) Evaluation of co-educational field

(C) Evaluation of educational and co-educational field

(D) Evaluation of all subjects

Td Ud ST YeToh H SATdeh HoToh 1 aTedd & —

(A) NfeTeh & 1 YoaTR

(B) wg-ifereh &4 1 oAt

(C) feqe va g -fereh &= 1 geaTehd

(D) =¥t forwai o1 yemehd

Which teaching aids are not included in the visual equipment ?

(A) Projector (B) Film strip

(C) Poster (D) Gramophone

i ot e -wgreres amft gy -3ushtor § wftifed 7€ 7 7
(A) TSR (B) Thew feg

(C) URR (D) THI®BH



147.

148.

149.

150.

A force F is acting on area A. If the force is double and the area is halved, the resultant
pressure will be of the initial pressure :

(A) half (B) double

(C) one-fourth (D) four times

T 9 F fohell & A U1 @1 2 | AfG S 1 QAT qT &5 i AT L g, dl qROTTH g
TRIRe ETel 1 &I :

(A) 3Hn (B) gﬂfﬂ
(C) Th-=ors (D) =TT

A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of convection.

(B) becomes cold by the process of radiation.

(C) becomes cold by the process of conduction.

(D) does not become cold.

TR hl Teh T i STSHHIT o @Tel H GaIAT 1T 8 | 58T o
(A) Hagd IfsHAT & HROT 3T 8 AT |

(B) fafertor wfskar o smur 331 31 ST | mm
(C) =Te UfshaT o ShIUT 38T &l ST | Eh
(D) 31 & & |

Image formed by a plane mirror is :

(A) virtual, behind the mirror and enlarged.

(B) virtual, behind the mirror and of the same size as the object.
(C) real, at the surface of the mirror and enlarged.

(D) real, behind the mirror and of the same size as the object.

THAS YU R ST TR Sidfee B g

(A) ITYTE, gUur & d T et

(B) AT, gUUT & e a1 feia o A3 o S
(C) aTfeeh, gUUT o Y53 TR qeT TTafed

(D) aTEaferh, gur = i qer foie o T3 o s

The limit of audibility for healthy human is :

(A) 10 Hz to 20000 Hz (B) 10 Hz to 2000 Hz
(C) 20 Hz to 20000 Hz (D) 20 Hz to 200000 Hz
] H ED 1\?111 ST HT Bt % :

(A) 10 Hz ¥ 20000 Hz (B) 10 Hz ¥ 2000 Hz

(C) 20 Hz¥ 20000 Hz (D) 20 Hz & 200000 Hz



SECTION-IV(b) / ©UE — [V (b)

SOCIAL STUDIES / TTHISTR 3185

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

30 @Ug H %o 60 T & | T sreafeii 3 sm faw o6 = foran 2 3= oft oA v arfemt #

91.

92.

93.

94.

At which place in Gujarat were the teachings of Lord Mahavira and his followers
presently available were written down about 1500 years ago ?

(A) Valabhi (B) Lothal

(C) Rangpur (D) Bharuch

AN €Y § U WEH HEER T 3eh STTATRRT shi freand & 1500 a9 g o o
Tope o ot foreelt 7S off 7

(A) dooHt (B) wUeA

(€) TIgX (D) W&

Which ‘Tripitaka’ tells us that there were separate branches for men and women in
‘Sangha’ ?

(A) Abhidhamma Pitaka (B) Sutta Pitaka %E{E!

(C) Vinaya Pitaka (D) None of these

T H TN 37 Rl o 1@ <t 37T - 37enT sFewen off, 715 g fohd fiftess o war seran & 7
(A) 3ty fyes (B) 9d fues

(€) forra e (D) ¥ &

Which rivers contributed significantly to Magadha’s transportation, water supplies and
making the land fertile ?
(A) Godavari — Tungabhadra (B) Ganga - Son

(C) Chambal — Mahi (D) Krishna — Kaveri

& = Afet 3 w1y o 1A, St -faar tg S SUSTS: M H HEwul AeTeH fe ?
(A)  TIerer — g (B) T —®H

(C) =9 —HTEt (D) TS — e

Most of the Ashoka’s inscriptions have been found in -
(A) Prakrit Language and Brahmi Script

(B) Pali Language and Devnagari Script

(C) Sanskrit Language and Brahmi Script

(D) Punjabi Language and Gurumukhi Script

33Tk o TR SfieiE U™ T E -
(A) Tha w1 SR SR fAfy  (B)  Ofer Wt 3R EAwRY foAfy
(C) &ha wT R STEh Ay (D) il Wt 3R TeuE fafy



95. Which land was granted to Brahmanas and was usually exempted from paying land
revenue and other dues to King ?

(A) Agrabhag (B) Agrahara

(C) Agradaan (D) Bhumi-dan

IE I | Y-WTT 2T S SR bl g T ST o7 q2 394 iRt 9 371 TR 3 L U gRT
T T 1d o 7

(A) Ju9m (B) 3UEX

(C) 3t (D) H-TH

96. In which language was the “Prayaga — Prashasti” composed by Harishena, the court poet
of Samudragupta ?

(A) Prakrit (B) Hindi
(C) Pali (D) Sanskrit
TR -SRfE” S T TG o UsTehidl N 3 fohg orem o <6 off ?
(A) med B) f&=d
(©) i (D) #&Fd
97. The Shunga dynasty was founded by which General of the Mauryas ?
(A) Pushyamitra Shunga (B) Agnimitra Shunga
(C) Vasumitra Shunga (D) Devbhuti Shunga
ST ST Shi TITOHT fohd WY T G <A1 T8 off 7 o
(A) g g (B)  JAffi 3T e
(C) =g (D) afar 3T
98. Choose the Kanishka’s court poet who composed a biography of the Buddha, the
‘Buddhacharita’.
(A) Saundranand (B) Ashvaghosha
(C) Shudrak (D) Harshvardhan
S-S 1 TTehid G ST Tg <l Sftarl, ‘Fgaia’ shl TaA1 <l ot |
(A) HetE=< (B) IReEN
©) & (D) E¥aEH
99. Which was an administrative subdivision of a Mughal province ?
(A) Peshkash (B) Jaagir
(C) Milkiyat (D) Pargana
e Wil | Teh YMTE e JHSH hiF &7 T ?
(A) USTERI (B) SR
(C) Tufeswaa (D) UTHI
100. Which is a Major poetic anthology of Alvar Saints also known as Tamil Ved ?
(A) Tondaradippodi (B) Karaikkal Ammaiyar
(C) Tavram (D) Nalayira Divyaprabandham
IR Fell 1 Tsh G HIed Hehe 918 qftret ¢ o &9 § off S71 91t 8
(A) dicutewts (B) HIGHRIA SR

(C) qaw (D) TaRRIfceEym



101.

102.

103.

104.

10s.

106.

The Mother of Mughal ruler Jahangir belong to which Rajput dynasty ?

(A) Kachhwaha (B) Rathore

(C) Parmar (D) Chouhan
TS STEh SRR eh! HIAT fehd TSI 91 § Falea off ?
(A) Hesaml (B) TS

(©) =R (D) =&

“A cherry that will drop into our mouth one day.” In 1851 the Governor — General Lord
Dalhousie said this statement about which state ?

(A) Satara (B) Awadh

(C) Jhansi (D) Nagpur

“Y el Teh Ted BAR & Yg | ARt TR 17 1851 H TR SRel A€ SaAars I8 HeH fohd
foamed o SR § ST T ?

(A) §a@ (B) 399

(C) et (D) AR

Which day was earmarked for “Direct Action Day” ?

(A) 14 August 1948 (B) 16 August 1947

(C) 14 August 1946 (D) 16 August 1946

“Jeaet ShaTe! fead’ g shia @ fem i femam e 2

(A) 14 3ATE, 1948 (B) 16 3T, 1947 E}%
(C) 14 3171&, 1946 (D) 16 37, 1946 =

By which Constitutional Amendment the Age of adult suffrage in India was reduced from
21 years to 18 years ?

(A) 59 B) 61

(C) 63 D) 71

Torm Gfaam Heem o GRT YRA § 995 TaTIehi hi 31 21 99 & T 18 I i TRt ?
(A) 59 (B) ol

(C) 63 (D) 71

Which feature is not in the “Preamble” of the Constitution of India ?
(A) Secularism (B) Federal Government

(C) Political Justice (D) Equality of Status

T o HITLT T SedTaHT | i it foreiwar 76 8 7

(A) ug-frRueman (B) wEfiT I

(C) TsHIfas = (D) ST 1 THT

Who was the Deputy Chairman of the Constituent Assembly in India ?
(A) Dr. Rajendra Prasad (B) K.M. Munshi

(C) A.N. Sinha (D) H.C. Mukharji

WA ! FiagT T 997 & Iuege ®F o ?

(A) I Tolg 941G (B) .uH. gt

(C) T fa= (D) w=.H, gl



107. “Right to Property” is presently mentioned in which Article of the Constitution of India ?

(A) 224 (A) (B) 290 (A)
(C) 300 (A) (D) 312 (A)
“guf T IR IAHH H WRA o AfIeH < fohg =g ¥ afvfa g ?
(A) 224 (%) (B) 290 (%)
(C) 300 () (D) 312 (%)

108. Which Constitutional Amendment was made to provide opportunities for education to the
children of 6 to 14 year of age ?

(A) 74" (B) 81t
(C) 86" (D) 91th
6 8 14 9% 37 o STcTohi oI T o STTHL 3T U 2 o &1 Glfae dumer fopam mm 2
(A) 744t (B) 81t
(C) g6at (D) 91t

109. Who are included in the electoral college of the Vice-President of India ?
(A) Nominated members of Parliament
(B) Elected members of State Legislative Assemblies
(C) Both (A) and (B)
(D) Nominated members of State Legislative Assemblies

W o IUNPAT o Fateres quget d i i g ? Eem
(A) HHE % T TE (B) T faurawati % Fratfaa ge= i
(C) (A) 3R (B) gl (D) T faumanati o I g

110. Which Article of the Constitution of India described the Power of the President to
“consult” the Supreme Court of India ?

(A) 143 (B) 147
(C) 140 (D) 145
IR o I AT H TS i shi Tgafer b Sifert Wi o Gferer = g srpeag g aftfa g 2
(A) 143 (B) 147
(C) 140 (D) 145
111. In which Part of Constitution of India described the Urban Local government ?
(A) 8 (B) 9(A)
<o) 11 (D) 10(A)
YT oh HfTLTH o fohd W | &0 T s aftfa g 7
A) 8 B) 9 )
<o) 11 (D) 10 (=)

112. What is the minimum number of Women Members in the National Commission for
Protection of Child Right ?

A) 2 B) 3
€ 4 D) 5
T STeT TR ERE0T ST 8 =Jfaw fohe1 Afgen dewd a1 SAfar 8 7
A) 2 B) 3

© 4 (D) 5



113. According to Article 74 of the Constitution of India on whose advice does the President act ?

(A) Council of Minister (B) Vice-President

(C) Speaker of Loksabha (D) Governor

VR % e & 3Tg<ag 74 % qaq Ugufd fResh! Hefg & e a8 ?
(A) T Tftye (B) Iwrgafd

(C) AR Tee (D) TdTA

114. Which of the following is a group of inner planets ?
(A) Mercury, Venus, Earth, Jupiter
(B) Venus, Earth, Mercury, Mars
(C) Earth, Mars, Venus, Jupiter
(D) Earth, Mars, Jupiter, Saturn
fferfiga @ w9 |1 31l T8 B TR AR R 7

(A) 39, TF, 9, q@@id  (B) T, T, 39, T
(©) gl e, o, gEwta (D) e, T, gewd, A
115. Which of the following is a correct statement with reference to latitude and longitude
respectively ?
(A) 87° North to 197° East (B) 56° North to 91° South
(C) 101° East to 192° West (D) 23° North to 66° East
frferiaa o @ shaer: 3TeqTeT 9 <= & Treeg | Tel sfvreafa |

(A) 87°IWH 197° (B) 56° 3 A 91° gfequr e

(C) 101° & & 192° wfgem (D) 23° IWH 66° T4 =
116. Equinox is related to -

(A) 21 March (B) 29 February

(C) 22 December (D) 21 June

foya gafRa g -

(A) 219 (B) 29 B W

(C) 22 feamara (D) 215 H
117. Which range is located in the north-west direction of the Peninsular Plateau ?

(A) Vindhyachal (B) Satpura

(C) Aravalli (D) Eastern Ghats

& gdaHTe TG 9oR % Iat-ufvam fem w fera 7 7

(A) faemEe (B) @agst

(C) 3Tt (D) i =me

118. Which of the following is related to endogenic forces ?
(A) Wind, Glaciers, Volcano
(B) Volcano, Landslides, Earthquake
(C) Earthquake, Landslides, River
(D) Glaciers, Sea-waves, River

e & & 1 a1 st aefl @ Tt @ 7
(A) o, feme, SaemEt  (B) ST, R, g
(C) o™, YEEe, T (D) fewe, wplt-aa, =



119.

120.

121.

122.

123.

In 1947, he was then Director General of the Archaeological Survey of India.
(A) Alexander Cunningham (B) R.C. Banerjee

(C) R.E.M. Wheeler (D) Sir Jhon Marshal
1947 T YRR qUIdcd FeieToT o deehlefid SRNET-SLd o
(A) ITAFIST HiTEd (B) SARH. &=l

(C) NI, el (D) W AR

Which Satavahana ruler claimed to be both, a unique Brahmana (eka bamhana) and a
destroyer of the pride of Kshatriyas ?

(A) Satakarni - I (B) Shiv Skanda Satakarni
(C) Simuka (D) Gautamiputra Sri — Satakarni

fohe ATqaTE STHe J W HI ST TR (Th STHAT) T &A™ o G4 1 &1 i arel
ERIELING

(A) IRl -Jog (B) T3ra whe Smraehuff

(€) fems (D) eIt 3t —zrerepoft

In August, at which latitude does the Subtropical Easterly Jet Stream blow in India ?

(A) 8°North (B) 15° North

(C) 27° North (D) 37° North

31T W18 § WA | IuTsrehfesieli et Ste wim amy fohd S1erer W yated el | 2

(A) 8°3 (B) 15°3< EHE
At

(C) 27°3W (D) 37°3xX =

The correct order of the physical regions of Rajasthan located from North to South is
(A) Vindhyan range — Luni Basin — Shekhawati Region — Mahi Plains

(B) Luni Basin — Vindhyan range — Shekhawati Region — Mabhi Plains

(C) Shekawati Region — Vindhyan range — Luni Basin — Mahi Plains

(D) Plains of Ghaghar — Bhorat Plateau — Shekhawati Region — Luni Basin

TSTEAT o Wiifereh ToTi o1 TR & gfequr feom & srafeufa 1 gt v & -
(A) e ooft - oft 9fem — IETEd wew — A1E *1 8eE

(B) <t afem — faerm Joft - vr@madt wewr — #El 1 #eE

(C) IEEA wew — faem 2ot — ff 9 — A1 1 fem

(D) TR HT HEH — WIS T ISR — IGTEE Te™ — Al 9

Which of the following is an example of Arabian Sea drainage system ?
(A) Menal, Kothari, Berach (B) Jojri, Berach, Menal

(C) Kothari, Som, Ruparel (D) Jojri, Bandi, Jawai
fmfafed & & sre g srvars 9 w1 3R R
(A) AT, BIRBA, 9 (B) SwiEl, 9gd, AT

(C) HI3W, §H, IR (D) =g, S, JET



124. Match the following :
Name of Sanctuary
(1) Desert National Park
(2) Todgarh Raoli
(3) Sita Mata
(4) Mount Abu

Hm 2 3 @

Wild animal
(a) Panther
(b) Bear
(c¢) Great Indian Bustard
(d) Flying Squirrel

(A) ¢ a d b
(B) a c b d
< d a c b
D) b d a c
ﬁ'ﬁ'r?i?[ ﬁﬁﬂ :
STWARTT T W T Sa
() TfamesaE (a2 dgam
(2) 2rETe ae! (b) s
(3) Etar Hren (c) TeEA
(4) W= 3T (d) 3 sl
m @ & @
(A) ¢ a d b
(B) a c b d "
© d a ¢ b S47
D) b d a c
125. Match the following :
Mineral Use
(1) Lead Zinc (a) Electric Wire
(2) Copper (b) Fertilizers
(3) Gypsum (c) Ceramic

(4) Wollastonite (d) Battery Acid

(;) @ G @

(A) c d a
B) ¢ d a b
(C) a b c d
(D) d a b c
gafera $Hifa :
wf=
(1) =i s (a)
(2) st (b)
(3) fm ()
(4) TfcieMTse (d)
M @ & @
(A) b c d a
B) ¢ d a b
(C) a b c d
(D) d a b c



126. The headquarters of North-Western Railway Division is located at

(A) Jaipur (B) Ajmer
(C) Kota (D) Jodhpur
I -ufeay {etd queat i JeTer fod & -
(A) SR (B) TR
(C) =i (D) g
127. When did Rana Sanga died ?
(A) 30 January, 1528 (B) 30 July, 1527
(C) 28 August, 1529 (D) 29 November, 1530
T | <l G e FS 7
(A) 30 e, 1528 (B) 30 e, 1527
(C) 28 3T, 1529 (D) 2949, 1530

128. Who was the founder of Vishnoi sect ?

(A) Pipaji (B) Achalnathji

(C) Jambhoji (D) Ramanandji gg@
Torg s T & Jadh B A ?

(A) YT (B) TGS

(C) s (D) TR

129. Who was the editor of the newspaper “Pratap” which gave wide publicity to the Bijoliya
Peasant Movement ?

(A) Ganesh Shankar Vidhyarthi (B) Rama Kishan Verma

(C) Manikyalal Verma (D) Ramlal Ojha
fetiferan fopam 3T ! =TIk TR ¢ aTel FHTIR -3 “WaTd” & TUTeeh i & 7
(A) TTorST Yot feremeft (B) T fepar mi
(C) TTfTeRIeATeT Tt (D) THSTA AT
130. When was the Matsya Sangh established in the first phase of Rajasthan integration ?
(A) 30.03.1948 (B) 18.03.1948
(C) 11.11.1950 (D) 28.03.1949
TISTEAT — TehIehtUT & J2H T H Ao Tl <h TATHHT el 8 7
(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949



131. Where was the “Rajasthan Seva Sangh” established in 1919 with the contribution of Vijay
Singh Pathik, Ramnarayan Choudhary and Haribhai Kinkar ?

(A) Bhinmal (B) Raipur
(C) Alwar (D) Wardha
1919 H TS Fer o <h T foorafig ufees, trAmmer el 3t g fhet &
TITEH & HEl g8 7
(A) HiETA (B) TWAX
(C) 3R (D) @i
132. During the reign of which ruler Pichola lake was built ?
(A) Bappa Rawal (B) Maharana Lakha
(C) Rana Sanga (D) Rao Chunda
Torster el <1 formior fore wTreres o et | g3 ?
(A) T TeA (B) HERIUT ATl
(C) TomErm (D) T el
133. “Jaisingh Karika” written by Sawai Jai Singh related to which subject ?
(A) Astrology (B) Economics
(C) Politics (D) Military administration
TaTs St g foiRead “srafig sifenr T 1 fhg fowa @ wafaa g 7
(A) s (B) YA EE
(C) Tsifa (D) S-JWIEA e

134. ‘Pichwai Painting’ related to which school of painting ?
(A) Kishangarh School of painting
(B) Bikaner school of painting
(C) Alwar school of painting
(D) Nathdwara school of painting

freas e frg fasemen 9 @ gefa 2 7
(A) Teremg femeren St (B) iR Fasehett Rett

(C)  3Fetert fesrehett Sreft (D) rgr ferrehan Seft
135. ‘Rangadi’ and “Nimadi’ are subdialects of which Rajasthani dialect ?

(A) Malawi (B) Wagdi

(C) Hadauti (D) Shekhawati

T 3R et fope e Seft Y Susiforat § 2

(A) et (B) dret

(C) wrSrdt (D) vEmEd
136. Who was also known as ‘Meera of Wagad’ ?

(A) Meera Bai (B) Gavari Bai

(C) Koyal Bai (D) Kali Bai

B GITE 1 W b A9 F oft I S off ?

(A) e (B) Tl AT

(C) I TS (D) It &S



137. Which one of the following is not the aim of Social Science ?
(A) Intellectual and Mental development
(B) Utilization of leisure time
(C) Helpful in bringing social changes
(D) Teaching etiquettes
= 1 9 = o Al e Fr e g R 2

(A) g 7 ot foehm (B) 3TN & TH h1 GG HieTl
(C) TRk TiEdH @ | TgrIeh s=1 (D) freqor Rreem

138. The importance of teaching-learning material in Social Science is :

(A) Save time and energy (B) Clarity of the subject matter
(C) Both (A) and (B) are wrong (D) Both (A) and (B) are correct
TR fomm # fegor- siferm arf 1 vEw |

(A) TEF 3R afem 6t s=d (B) o= awq <t wamar

(C) (A) 3T (B) TR Tera 2 | (D) (A) 3 (B) GHI &I |

139. ‘Social Science refers to those branches of the study that deal with humans in their social
relations.” This definition was given by —

(A) Columbia Encyclopedia E_%

(B) Britannica Encyclopedia =

(C) Encyclopedia of Social Sciences
(D) Report of, The Commission on Social Studies, USA
“greTtoreh T & Tead STe i 39 @1t § & S HHa "I i 3k ATTIeTeh dVa-di o

gee T grg 1 HEEdl i & |7 I8 aReTe € R —
(A) AT THTESATd IS

(B) Tsrfen wramgaadifen

(C) TAHTgFATAfET 31Th TrreT |Arge

(D) GMIREh LR AR, . TE.T. 6 fTie

140. Use of Information Technology in Education started first in which country ?

(A) Britain (B) USA

(C) France (D) Germany
AT Ah-1ehl o1 T31eqT o T gt IUART fohd <1 H fopam T 7
(A) foe (B) FTH.T.

(C) wH (D) R



141.

142.

143.

144.

145.

146.

Which criteria is not correct for a good evaluation ?

(A) Validity (B) Reliability

(C) Objectivity (D) Subjectivity

T 3T HodToh o [T hIF |1 HTICE Hal T8l & 7

(A) Qeran (B) foreaerierman

(C) w&gEal (D) AFHTHAT
Values of Social Science teaching are —

(A) Social Value (B) Democratic Value
(C) Arttistic and Recreational Value (D) All of the above
TraTfoTeR ot fanetor < qer 8 -

(A) EmETe g (B) S Teot

(C) HeITcHh 3T HARSHTCHS o (D) 3R |eft

Summative Assessment is inappropriate for the following :
(A) Deciding upon the grade

(B) Summarising student learning

(C) End of the term assessment

(D) Monitoring the progress of teaching — learning process

HeheTTcHeh HedTeh [ o ToTT ST & —

(A) =t (Fe) Ffesa & |

(B) faemeff 1 &1 9R 98 uR w0 § gﬁ@
(C) T qeareh §

(D) Trefor-3rfermm wfskan i weifa o fmot

Which of the following subject is not included in social science at the upper primary level ?

(A) History (B) Civics

(C) Geography (D) Psychology

=1 9 & % a1 faw 3= merfies o o amrtees o | aftrfaa T8 @ 2
(A) sfoem (B) THERRIER

(C) s (D) AT

Which one of the following is the correct example of ‘Application objective’ of teaching ?
(A) Define (B) Classify

(C) Establish (D) Recall

e o & TRreaoT 36 ST 369 T Hal IETE § -

(A) IRTT ST (B) aieRtul ST

(C) TTfud T (D)  ICIRHIOT AT

Main components of Information Technology are —

(A) Software (B) Hardware

(C) User (D) All of the above

g1 b Ieh! o TG U & —

(A) HRI (B) BEIH

(C) STENTERAl (D) Iofed aft



147.

148.

149.

150.

Which permanent wind blows between 30° South to 60° South latitudes ?
(A) South — East trade winds (B) Polar Easterlies
(C) Westerlies winds (D) North-East trade winds

1 = TR e 30° et et @ 60° gl sreni o we YertEd gl @ ?
(A) Glegur-vaf smaTies qad (B) gt geff qad

(C) UG UaH (D) ITR-YeT ST Ta-

Where do willy-willies cyclones originate ?

(A) West Australia (B) Pacific Ocean

(C) Atlantic Ocean (D) Indian Ocean

forefi—forefisr =rshaTd el ST g0 @ 7

(A) afveft stregfer (B) TG WETER

(C) 3TeATH HEHETR (D) fég wemmR

Which of the following oceanic currents are located in the South Atlantic Ocean ?
(1) Brazilian Current (2) Benguela Current

(3) Opyashio Current (4) Gulf Stream Current Eﬁ
(A) 2,4 B) 1,2

(€ 3.4 D) 1,2,4

frferiaa wemm gt § @ o1 @t g gfaoft sreafes TR | frm 8 7
(1) STSfferRE g/ (2) ST 9

(3) STRETRE! g™ (4) T W W

(A) 2,4 B) L2

© 3.4 D) 1,2,4

Dehradun, Kotlidun and Patlidun are located at
(A) Between Himadri and Himachal

(B) Between Himachal and Shiwaliks

(C) South of Shiwaliks

(D) North of Himadri
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(96) PL-2
INSTRUCTIONS / f5éa
(Read carefully and comply / &9 & 9§ &R e &%)
IMPORTANT / H&@qt

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the
. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the

. The candidate has to answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Application Form.
Que 11 (WINT 1) | SHI W91 6 W] H T& FA di@d g f5a qmon 1 =97 avaefl 3 9 1 F w9 F e -0 7 e g

Online Application Form. The Language-II will be different from Language-1.
QU 11 (HTHT- ll)HdHMINIch&lbedlchlamchwlMIrMM&MHWNI%HQdSTWQﬁ_:TW TR ETH STTTTEA STTAG -T=TH {ShaTe | WIS - 11 AT - 18 fTe R |

OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
B T B et T fiz 1 i

O 9 Y W A THE 5h. Ry | OMR ATC T {AThA
WA HI® T TGl Eﬁ%&ﬁ —%aﬁgwmw %Mq'(%mﬁﬁm|
in the Online Applicaton Form.
If a candidate answers the questions of the langu fe or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it would be treated as wrong.
%waﬁaﬁ'{amﬁ' W%H%Hm IV a) TG Td fo= a1 (IV b) AT stega § gt fawa & wet a1 ga &1 &, fora fawm o1 sgm sremedi

ST S L
%f?hciwa ITATE ATeT-9 W FF(d WIS A7 f97 & U1 1 Bl 7 6<eh 79 (999 & W] 1 Bl &l € dl 98 A%A] &1 @ &7 ey
TAT T AT ST |

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and Sl. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during

scanm of your OMR Answer Sheet.
a# ﬁimlﬁ7WOMRsﬁ2®W1%43%5%?%(@2)@@|uﬁ'3ﬂqwaﬁ%%ﬁﬂw

ik ww?m e

‘w\ﬁtﬂsﬁn&r{aﬂﬁ% OMR sz &1 T & Feeasy g a/e TROMET & Wfd 39 @F JaRart ent
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.
- H 96 I8 UF 150 U © | WA ey {3 M % ST € WeA-Yieash] ] €10 G | a8 gieiead & & fo geT-giedar 7 150
T € S R U8 we 3w wew 90 % €_| OMR sfie R farge Fwer srwedi @t I fohd T8 9av-u9 & ATER sifhd &A1 § TI A
AT h SO W R HT siferd feRar g1 R |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers.
FH T TEAFAT FFRF € | Tl T 1 U forehed € Hel § | 7l 0 % foodd faiiRa ofeh O 2 | ot arar o ford sorresren aies el fo omih |
All questions other than language questions of Sections II and Il shall be bilingual.
WH-UA & AT TR GU8 11 TF 111 & U o Srfaied A8 9t guet & us fgwmha g |
In any event of any mistake_in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.
Teret W | ferell Jfe o fosdr wi e a1 %&TWWW | IIETT <hT SFafer § WAl # Tohel YRR hT WML ET hearan
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the

uestion Booklet. No additional paper shall be prov1ded . ;

TR % TF h1d o W - feasht &317?[ H ST o1 T € | 38 WA -gfRqent & el e, | R wehr o srferfa st Suesy A€t s ST |
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument
etc. %sarrlv?t allowed. Their use will result in dlas%}{lahﬁcatlon fotl y T

FAIIR, THEE D, AHES festies e, I, ATShIBIA AT F YHR T TR ITHRT Eal afsta
%|3ﬂﬁa€¢qﬁnmqﬁm?m£ﬁfw%m AT B | e o
OMR Answer Sheet will be provided along wit ;%fﬁsuon Booklet separately.
OMR ¢§fie WsA-YfETRT & |19 (AT UG
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill  to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warnm Bell will rmg at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
’;TS'"T— TR AT T & 1 fiee & g1 S | vl qragas ®9 8@ OMR Sfie § |9 giafsedt w1 6el ghR § W_| 99 -
qﬁwm% ﬁﬂz‘{j@ﬁammuw 1 ¥ 4 & fafsea 5t ﬂgﬁwﬁ‘%ﬁ |uaﬂ—g%w@aﬁ%qsamqﬁma‘fm
gﬁﬁ“a—craf{ W%/aﬁéqu&aﬁﬁ%/mt@%/ Tg T FARI I3 T ® | A wed-
%ﬂm Wiﬁaﬁég&qéaﬁ% W?ﬁ Hﬁqﬁ?ﬁ{am Sﬁﬂz%%ﬁa"{ D aq:ﬁm‘rr gt Seadl of | wAmEA! gel
% firte d ool e stfeqw ot we aaen W TSR |
erte your Name, Exam Center Code Signature, Roll No., Question Booklet Serles Code, Shift Number and Question Paper Booklet Number
in the space prov1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
g - mg OMR $fie R THEiRa €= R 7™, W &g T HIE, EATER, AHH, T-gas €10 &re, e FHis 6 q9 geasn
TR |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/blaek ballpoint pen only Gel pens/pencils are not allowed.

3T o IR dah(eI%h SR A, B, CI DH @I R | At ag IR T 97 3 IR bl OMR 8f1e & Gralfeerg wee shHieh o qaer
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Correct Method : [ corrECT /Wt Wrong Method : [ wrong/ 'RONG S S
NG / et WRONG /Ter WRONG /7o WRONG / TTei
ﬂé TR : GRED
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OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b, computer dlfﬁcult Any resultant loss to the candidate on the abgve account shall be of the candidate only.
OMRS % )é? uﬁaﬂq?gﬁQ‘q'OMRsﬁzﬁ? R fe2 A fercart T ot ARt e, A HEEE IR STt
Iwwﬁqﬁmﬁaﬁ@ﬁaﬁw SEh! @I HY @%
No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR co w1th him/her. Question Booklet is not allowed to be taken by the candldate
qﬁwﬁaﬁm‘aﬁaﬁﬁ% e i A A OMRsﬁzaﬂzhr%ﬁ a?fﬁv %wéa
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